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Question Number : 1 Question Id : 3354726531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

E?mo was the first speaker of the Legislative Assemnbly of Madhya Pradesh? | Be W2 &l T &7 o Tgel ol @i

Options:

1. % Pt. Kunji Lal Dubey | Wi&d §=i1 @77 gel
= % Sitasharan Sharma | "1 |t

3. % Sarla Grewmal | 8T UGTA

4 % G P Ehatt | ST drag

Question Number : 2 Question Id : 3354726532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who established a chain of CSIR scientific laboratories in India? | AT § @TGTEST ST TATTTATST S 7w T
Tepee EEITIOT 17

Options:

1. ¥ H.] EBhabha | 7= AT

2. % BD. Nag Choudhury | =T ZT 07 =en
% % DS Kothari | SL0E.F@&0T

4 % 55 Bhatnagar | T 0 90T

Question Number : 3 Question Id : 3354726533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who founded the Golconda Dynasty (Sultanate)? | Tiagel Tad (Hed-d) i ST fhe @1 27

Options:
1. % Adil Shah | o Gyl ae
2. % Mohammad Govam | HIgFAg Tian

2 ¢ Quli Qutb Shah | Fl Fga aTE
4. % Bahrman Shah [ ggAF a8

Question Number : 4 Question Id : 3354726534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which country held the number one position in [CC ODI rankings as on 30 Oct 20177 [ 30 Sfgay 2017 il

MTEE T T U Teaeter iR | T2 281 & ek U &1 1517
Options:

1. % Australia | siegferar

2 % England | $TAE

= ¥ South Africa | & skt

4 % India | 9°T

Question Number : 5 Question Id : 3354726535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who is the title sponsor of Hockey India League 20177 [ g1 21231 & 2017 @7 S O &1 27

Options:
1. % Reliance Industries | @M 2w
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2. % Star Plus | 92X qAd
= ¥ Coal India Ltd. | &id sizar vies
4 ® vivo | 24T

Question Number : 6 Question Id : 3354726536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The power to prorogue the Lok Sabha rests with the
I

Options:

1. ® Speaker | @7

2 % Chief Justice of India | WRT & &I ~=m=Tetar

Z. ® Prime Minister | W= 74T

4  President | a7y

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 7 Question Id : 3354726537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The plateau richest in minerals in India is

T et e wEg ve 7
Options:

1. ¢ Chhota Nagpur Flateau | ST AR 1)

2. % Mysore Plateau | BT W80

% % Deccan Plataeu | ST U3

4 % Malwa Flateau | ATHAT 98

Question Number : 8 Question Id : 3354726538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Saubhagya’ Scheme announced by the Prime Minister recently is intended to provide _______ | WETHAT &RT 5T
AR AL GG e R I ) e T FAT 2l
Options:

1. ® assistance towards marriage expenses of girls in rural areas | TH AR H A &1 A1ST & T # GEraar

2. % cooking gas connection to rural households | TTHT TiET & TElE T FoTaT
3. ¢ electrification of households across the country | O S0 § =511 &7 T e
4 % employment opportunities for wormnen across the country | Q¢ Sor # Aigaart & /0 SRR @ amEew

Question Number : 9 Question Id : 3354726539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
E%r'ﬁ?mich of the following is India’s first television soap opera? | FHATATET # & B9 97 ARG &7 U5AT ool o SRIaTsE

Options:
1. % HumLog | g AT

2. % veh Johai Zindagi | ¥ = & Mg
3. % Buniyaad | =g

4. % Ramavan | AT
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Question Number : 10 Question Id : 3354726540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The principal seat of the High Court of Madhva Pradesh is at: | Bed WS & 35 =MD 1 T 6 &

Options:

1. # Bhopal | \iTe
2. ¥ Jabalpur | S&EAgY
3. ® Indore | T2

4 ® Gumalior | TETEE

Question Number : 11 Question Id : 3354726541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to area (km?), which state is the largestin lndia? / 8T3%el ([FeAICR) & HH,
AR T HeRT a7 T i T &7

Options:

1. ¥ Madhya Pradesh | Hea 0
Z % Maharashtra | AgWIE

= ¥ Karnataka | ®ic®

4. ¥ Rajasthan | e

Question Number : 12 Question Id : 3354726542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is the Kundadev Mahadev ternple situated in Tikarmgarh District?| fwamg el § 73T gedd mgied Aiet Fgl
.Eﬁm%e?re is the Kundadev Mahadev temple situated in Tikamgarh District? | Raamg e # AETea Al gl

Options:
1. ¢ Kundeshwar | FEeFam
2. % Orchha | afsT

3. % Betul | =g

4 % Morena | godT

Question Number : 13 Question Id : 3354726543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The district of Neemuch touches borders with which other state? | SAg FAT 6T 7T 1= &1 HAT B 7040 FaT 57

Options:

1. % Rajasthan | T

Z % Maharashtra | AgWIE

3. % Uttar Pradesh | 39% 03
4 % Chhattisgarh | o4 famg

Question Number : 14 Question Id : 3354726544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the fo?lomng is a popular tourist spot in Indore? | FEEHET § € 319 528 § UF A0 Ui w0 57
Options:
1. # Belbagh | seTd
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2. % Lal Bagh Palace | #T =T AgA
3. % Ajshbagh | taemT

4. % yyoharbagh | SATENaMT

Question Number : 15 Question Id : 3354726545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

E'.E‘.-‘-.Ta Fund rmonuarments in Manduo is EIlSSOCiEltEd with the romance betweern Baz Bahadur and ______ 2 ﬂgﬁﬁfﬂ'
T THICE oI SgIge & ______ o Sl T & T 2T AT )
Options:

1. ® Rani Padmavati | THT 0gad T
2. % Rani Kamlavati | YT ®AATTET
=, ¥ Rani Fooprnati | ¥ ®TAd T

4 # Rani Premvati | T4 dAad T

Question Number : 16 Question Id : 3354726546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

< which r_igx;er is the Nalhesara Dam constructed in Balaghat District? | STaTare Fae # Te4WT amer &7 o e T
O e T B

Options:

1. % Parvati | UTed!

2. % Bainganga | &=
= % Narmada | 83T
4 ' Chandan | =gq

Question Number : 17 Question Id : 3354726547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which one of the following districts of Madhya Pradesh is the Gun Carriage Factory located? | ReT WET
T Fm o & e 9 i et e 27

Options:
1. % Barwani | aeam™T
2. % Bhopal | #UT&A

3. ¥ Jabalpur | SEAgY
4 ® Gwalior | TETEET

Question Number : 18 Question Id : 3354726548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hindola Mahal and Jahaz Mahal are both located in___. | BEAT 05d sX TgA dgad et ____H @@ 31

Options:

1. ¢ Mandu | #ig

2. % Rewa | TH&ET

3. % Bhojpur | ¥HIT
4. % Rajgarh | T=1Tg

Question Number : 19 Question Id : 3354726549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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How many coastal districts are there in mainland India? | 97T & §e 9 ¢ frad aor B 87

Options:
1. %78
2. % 45
3. ¥ BB
4 % 29

Question Number : 20 Question Id : 3354726550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to 2011 census, __________ % of geographical area of Madhvya Pradesh consists of forest area. |

2011 T ST o SIERI &, HEAWET o W eie
Options:

% T &

1. % 4557
= ¥ 3072
3. % 7554
4 % 7273
General Maths and General Aptitude
Section Id : 335472189
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472189
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ev selling an article at two-fifth of the marked price there is a loss of 25%. The respective ratio of the marked

price to the cost price of the article is___. | UF a%q @1 30T §rg & 2|5 U &= & 25% &1 511 51d 7T 21 o Sl g
T FHw T Y | Heled Sua______ 2l i e i e

Options:

1. % 25
2 % 52
3. % 315
4 ¥ 15:8

Question Number : 22 Question Id : 3354726552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

An amount of money is to be distributed among A&, B and C in the respective ratio 7:6:12. If A4 and B together
et 50 more than C, then what was the arnount received by A7 | UF sFRIA #T A, B R C = 7:6:12 & aqura o
TFaTAET 8 A A AW E @RI H C & 50 A% U #ed 5, F7 A ST 0T S=TiEr = o7

Options:

1. ® Rs. 600 | 800 74
2. % Rs 300 300 w0
= ¥ Rs. 350 | 350 ¥

4 ® Rs 1250 [ 1250 ¥0g

Question Number : 23 Question Id : 3354726553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If 'a'is the average of the following 6 nurmbers 44, 444, 844, 1244, 1644, and 2044, thenais___ | I FE 6
TeETalt 44, 444, 844,1244, 1644, 2044, FTaET'a' 5, 97 'a’

Options:
1. % 944

2. % 1244
3. v 1044
4 % 1144

Question Number : 24 Question Id : 3354726554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ifthe root of p(x) = 0is V2.thenthezero of p(x)is_ . /A p(x) = 0T qA V2 &
A plx) FAT B

Options:

1. % -2

= %2

2. %0

V2
4 &

Question Number : 25 Question Id : 3354726555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options:

bt | =
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1
iz
> R
J6
3
= W
J6
7
4 ® 42

Question Number : 26 Question Id : 3354726556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ifthe area of a square field is 2550.25m?, then its side is: / T CUch dallehi &81F &l &Tahd
2550251 . df SHhT &= &

Options:
1. % 50
2. ¥ 505
3 ¥ 515
4 ® 525

Question Number : 27 Question Id : 3354726557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the average. | g Faiem
o4, 7L, 28, 41, 17

Options:
1. % 41

o % 40
3. ¥ 43
4. % 44

Question Number : 28 Question Id : 3354726558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 5x —4x + 7 =0, then (5x -2)? is equal to: / ATE 5x2 —4x+7=0,dl (5x -2} 9 & =

&
Options:
1.9 -21
o % 31
3 %7
4 % 15
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Question Number : 29 Question Id : 3354726559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A, B and C cornpeted i an 108 cream eating contest. & ate 6 scoops in the same time a5 B ate 4 scoops and O
ate & scoops. Mow & ate 18 scoops in half an hour. How many scoops in total did they eat together in half an
hour? | &, B &0 C I U SEEkR T G 1 Al & an oiem o aa # 4 6 &0, B 4 #0 &T C 4 5 TF0 @ S
A ES H A W 18 TFU @ AT ue H I T4 - U G AR el Toha - S0 |@ng?

Options:
1. % 20
2. w27
3. % 33
4. % 45

Question Number : 30 Question Id : 3354726560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

James can mop and sweep the floor in 24 minutes and Jill can do the same in 12 minutes. If they worlk
together, then how long will it take for the work to be completed? | =R &4 @1 24 e # 52 ot 0iF w@aT 5 o
Foet T 12 e | 0 SepaT 81 Ihe o T e @ W 7, a7 F @1 O F § R aw amnme

Options:

1. % §mins | 6 fime
2. ¥ 3 mins | § e
= % 10mins | 10 fime
4. % 12mins | 12 AT

Question Number : 31 Question Id : 3354726561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the sum of the 10 angles marked i the given figure? /&0 &7 fafegd 10 IO &7
TeThed &4 b7

Options:
1. % ZE0

2. % 420
3. % 540
4. ¥ 720

Question Number : 32 Question Id : 3354726562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the remainder when 7492 is divided by 117 | 7492 & 11 & [29TT 9 0T S9EA F47 5197 27

Options:
1.9 1

2. %7
2. %9
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4. % 10

Question Number : 33 Question Id : 3354726563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratio of the present ages of two friends is 1:4 and 4 vears back the ratio was 1.7, What will be the ratio of

their ages after 10 years? | &f Al &7 ad 0= S #T aQud 1:4 & 2T 4 99 Jaf a0 107 &M 10 =97 & aTg ! A7 &7
ST T E Y

Options:

1. %34

2 ®2:3

¥ 37

4 ¥ 5.6

Question Number : 34 Question Id : 3354726564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
There are 40 musicians invited for an event and orly sever -ternth WELIS present. What is the nuarnber of

musicians who missed the event? | Ud ®TE®H & 107 40 GriigewRT & AT T mar ot 32e 7 10 Ui a1 37
FITERT &1 HeE fra-t & A whed # s a7

Options:
1. % 10
2 % 11
IV 12
4 % 13

Question Number : 35 Question Id : 3354726565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the sum of the square of a nurmber and its square root is equal to the half the square of &, then the number

is___ | I U HEar & a1l K IEd aHA w1 AE, © o a1 o STe o awie] g, af |@eT _______ 2l

Options:

1. ¥ 4

2. %5

3% B

4 % 7

Question Number : 36 Question Id : 3354726566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

463 +3/7 — 9+/28=7

Options:
27
1. =
el T
.
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V14
V21

Question Number : 37 Question Id : 3354726567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The number ______ has no multiplicative inverse. | ____ %47 %1 §18 OTHAF Hiddad 131 ol

Options:
1. %2
2 % -1
3% 1
4 ¥ 0

Question Number : 38 Question Id : 3354726568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 11}111 is represented as an infinite decimal, then what will be its 2000th digit after the decimal point? | Ak
11111 T ST SAHAL & & H TATIT A, TT ZAHe Telg & o1 F8qRT 200087 wwénw

Options:

1.9 49

2. %0
2%1
4 ® 3

Question Number : 39 Question Id : 3354726569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eama and Java each took four 100-point tests. Bama got an average of 78 on the four tests. Jaya scored 10
points higher than Bama on the first test, 10 points lower than her on the second test, and 20 points higher on
both the third and fourth tests. What is the difference between Jaya's average and Barma’'s average on these

four tests? | STHT S ST Heddr = TR 100-37R! &1 TSI SN STAT 1 =1 qerymett § 75 &7 Sfiad WIH gemm ST i T weiaT
H AT H 10 S7eF aiier, T4d e qiigm § IEH 10 sl &, U qd 4 1 et g1 iigmsit § 20 e st WH gu 5 aw
netgrart ® 2T o ot o =T F T § A e e

Options:

1. % 20

2. % 10
%0
4 ® 5

Question Number : 40 Question Id : 3354726570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Five years ago, the respective ratic of the ages of a mother and daughter was 7:3. After six years, the ratio will
be 16:10. Find the present ratio of their ages. | O a9 Ugel, ATAT 3 T &1 1] T HTET AT 73 9N T8 99 T,

SUTT 16:10 FITN FT 7T 1 a8 H1 01T AT 1
Options:
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1. % 32

= ¥ 137

3. % 43

4 ® 52

Gerneral Hindi

Section Id : 335472190
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472190
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ToreTer e & @ TRy i e 2 -
Options:

1% F

2. %7

3% 9

4 & g

Question Number : 42 Question Id : 3354726572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Options:

1. % guigm

2 % srEd

3. % oy g

4  avi-Taeie

Question Number : 43 Question Id : 3354726573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST © I AT 0 F R g -
Options:
1. % am
2. %z
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3.¥T
4 % 3

Question Number : 44 Question Id : 3354726574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g T -
Options:

1. % syt

2. % areanrir

2 ¢ AR

4. % T

Question Number : 45 Question Id : 3354726575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

el o Uel & B ool e s ____________ B3
Options:

1. % aof

2 % g

3. o i

4. % gy

Question Number : 46 Question Id : 3354726576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“ait @ oA g # S @ arge

Options:

1. ¥ grerd
2. % oo
3 % g

4. % i

Question Number : 47 Question Id : 3354726577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘ATE SIS ITAT o Tl U eg MR A A @ AT g
Options:

1. % EFHT

2. % aEgEr

2 afE

4 % g=T

Question Number : 48 Question Id : 3354726578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o T atd S Fe A e e aree
Options:

1. % T+ =
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= % 4T
=3 Jﬁ:+a¢r
4 % fog+ae

Question Number : 49 Question Id : 3354726579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
o T RAW Mg g A E FT ATy

Options:

1% 9
2 % aar
3. % g
4 ¥ gHg

Question Number : 50 Question Id : 3354726580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘ST IR E & e I H i R7
Options:

1. ¢ gdar

2. % gEg

3 % g

4 % 3

Question Number : 51 Question Id : 3354726581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TaE eg H 7 H & #1997 g9 27

Options:

1. % Jcqey 9ug
2 T e

3. % FHAT W

4. % ity gumg

Question Number : 52 Question Id : 3354726582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘I wET gerat @ ol PR H e @ ar gy

Options:

1. % e

2. ¥ g g

3. % oI W e ST
4. % T AT

Question Number : 53 Question Id : 3354726583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Todl T 4 &7 g H G A1 E?

Options:
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1. % Toar
= ¥ g
3. % qddr
4. % gog

Question Number : 54 Question Id : 3354726584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘A T W AR AT T | W @87
Options:

1. ¥ Ioarg

2 ® T

3% EE
4. % FIy

Question Number : 55 Question Id : 3354726585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T Grol SATHINIT W, T H10g A7 del i o
H I AT w5 Tof fowere gi-m?

Options:

1. ® JHF AAFN

= & JUNT SEE
S ¥ ww AT
4. % g e

Question Number : 56 Question Id : 3354726586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TE TR Seg giag- Jory
Options:

1. & e

2. % TR

3 ® AT

4 % ooy

Question Number : 57 Question Id : 3354726587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o ® Wi o Ty ghe W w et B
Options:

1. % T&F + 0F

2. ¥ g+ a0

3. % g9+ i

4. % O + UF

Question Number : 58 Question Id : 3354726588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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nie T & e ST ae AR E -
Options:
1. % gy

2 % gidga
S ¥ O
4, % gigagor

Question Number : 59 Question Id : 3354726589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=TT T T ST AT - Al o el E -

Options:

1. % Torger 5T B 974 & 39 ATET & STaaTear A5 gial gl

D, % SET W ST AT A AT
3. ® rad avq & 9§27 a€q # Hgcd gl o)
4, & gooy o ToT WHTOT S AaeTaT AR e T E)

Question Number : 60 Question Id : 3354726590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT EIﬂHHIH—ﬁ?Esldlaul

Options:

1. A T 50 amer

o w IFIEEI‘T

3. % O wm IO Fe

4. % T F ATE

Rural Economy and Panchavati Eaj

Section Id : 335472191
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472191
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is a source of revenue for Janpad Panchayats? | FEeEd § & #19 F=0g t==d| & o
TTEd & HIT 57
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Options:
1. # Fees for local markets | T aTART & o7 Je
2. ¥ Fee from auction or lease of ferry services | Ui darert & SIeTHT W T Sarert @1 ugT
3. ¥ Fees on registration of cattle | Wertd=t @ U=l 0 7w
4, % Lighting tax | W &7

Question Number : 62 Question Id : 3354726592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year did the first State Finance Cormrmission in Madhya Pradesh subrmit its report? | B2 028 H 056
T el S = Ty ad st fatd wega @ ot

Options:

1. % 1994
= % 1993
3. ¥ 1996
4, % 1990

Question Number : 63 Question Id : 3354726593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is popularly known as ‘Mandi Board'?| ‘W&t 92 & &9 § Toper 17 197 37

Options:

1. % Madhya Pradesh State Agricultural Marketing Board | e Uesl T=aT §1 oo a2

2. % Madhva Pradesh State Horticulture Produce Development Eoard | T W24 U0 aTaHT Je01E ffw ais
3. % Madhya Pradesh State Seeds Development Board | He TE T=4T a1 @ a1

4. % Madhva Pradesh State Irrigation Development Eoard [ A2 024 T4 W= e a2

Question Number : 64 Question Id : 3354726594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fural Knowledge Centres are being set up in the country with the help of ____. | THM AT #gi &1 ____ T AZZ o
a1 o T TR AT TET 8

Options:

1. ® world Banlk | foFa &

2. % Asian Development Bank | TidTE fSam o
z. ¥ NAEBARD | A=

4 # Reserve Bank of India | 9w = e o

Question Number : 65 Question Id : 3354726595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who armong the following is the present Union Minister for Rural Development? | Taieiaa # & UTHioT e & oy
TTAT Sl HAT T 27

Options:

1. ® DV Sadananda Gowda | SLdT AgMHg ST
2. ¥ Narendra Singh Tomar | 9¢g g W

3. % JPMNadda | AUt 9gT

4. % Harsimrat Kaur Eadal | 5TEAT FT a8
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Question Number : 66 Question Id : 3354726596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wages paid to Mahatma Gandhi National REural Ernployment Guarantee Scherne has rnow been linked with

_______ | FETCHT TS T TTHOT TR TR AT T Bl T Wl Sl _______ F TS 58 gl
Options:

1. ® wholesale Price Index | §iFed NEd 5259

2. ¥ Consumer Price Index for Agricultural Labour | F=2AT MEq S20 BT THide=id oat

3. % Consurrer Price Index for Industrial Workers | F=gAT W5 5200 HIX & 0 did

4 % Food Inflation | B2 SFeae

Question Number : 67 Question Id : 3354726597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
When was the Ashok Mehta Cormrmittee constituted? | =139 AgaT ATHTE HT T3 Tl ToFAT TI2T 477

Options:

1. % 1975
= % 1975
3 v 1977
4, % 1978

Question Number : 68 Question Id : 3354726598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is the accounting systern to be adopted by Gram Panchayats? | FgwTEs & & @19 91 omw
TEITId &R SATE AT ATAT ol WA 57

Options:

l.p ® Mahajani Accounting Systern | HETA-T G0 T
2. % Single Entry Svysterm | Tod Nl GGl

=, ¥ Double Entry Systemn | i U9t Tgfd

4. % Feeping only daily transaction | #Ea S =6 T&AT

Question Number : 69 Question Id : 3354726599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the main objective of E-Procurement scheme in Madhya Pradesh which is intended to help farmers of
foodgrains? | mauéﬂﬁé—mmmﬂwﬁmw%: TATET = Gy e o AgTaT #eAT 57

Options:

1. ¥ Ensuring appropriate price to the farmer | 7ra ®1 IR 07 foamT

2 % Procuring good seeds for farmers | TRl &1 e i U FHT

3. % Helping the middle men and agents | TS=NTEAT Td TSTH $ TERET @41

4 % Providing irrigation facilities | &g gidemT Sumeer =T

Question Number : 70 Question Id : 3354726600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which state among the following is the largest producer of chilli in India | ¥RT # FEARET # § 319 a7 7= 5= @7
e F=T JcUIg® 57

Options:
1. ¥ Madhya Pradesh | Hea 0
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2. % West Bengal | TR A
% ¥ Andhra Pradesh | Tl 03
4. % Rajasthan | T=eaE

Question Number : 71 Question Id : 3354726601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the prime objective of DEDA administration? | DRDA T ®1 &7 I8 F47 857

Options:
1. ® Engage more permanent staff by giving more benefits | STE® frd Ha #d gU STEd wrt we=iedt 1 g
2. % Replace district administration over a period of time | TF TAGTETE & 912 6T BT B TG AT

%w’? Enharce the quality of implementation of anti-poverty schernes | TRIe-TeR et Tr=Ta1t @ 7] F T 0erT
AT

:ﬁﬁ # Reduce the functions of the agency to make it more effective | TeE! ®1 SITEw TATET @ o 70 56 @1 #
AT

Question Number : 72 Question Id : 3354726602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which ore of the following is NOT an objective of Pradhan Mantri Krishi Sinchayee Yojana? | FafafEs # € #
T W W1 F7Y TE=E T-T T S84 T8l 27

Options:

1. # Expand cultivated area [ T T &7 T TRa &

2. % Reduce wastage of water | 5o & gewdiT H HHI AT

=. ¥ Eliminate traditional irrigation sources | WHINTT W=Te Ad1 &1 TATH FAT

4 % Improve water use efficiency | SHTEE e IUZT H G FAT

Question Number : 73 Question Id : 3354726603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Under MGNEEGS, if work is not provided within 15 days, applicants are entitled to an unemployrment

allowance at what rate? | AT & 959 Ae 19 15 A1 & Y190 IUA=e 951 ST a7 5, I7 ATeed Tohe S¢ U sl =i e
ERCTALS 1

Options:

1. ¥ Full wage rate for first 30 days and ¥ thereafter | uger 30 Toat & Ty qof miesiee oo st sarag 1) 2

2. % 12 of the wage rate for the first 30 days and 1/8 thereafter | Tgel 30 TaHT & Fogal S0 ®T 12 31T 35 a1
li=

=. % 18 of the wage rate for the first 30 days and 13 thereafter | Tgel 30 T o 00 A=G ST 1/ 8 59T I08
IR

4. ¥ 1|3 of the wage rate for the first 30 days, and 1/2 thereafter | Uge 30 f&AT & A9gLI G o 1/3 3K IHF a18
11z

Question Number : 74 Question Id : 3354726604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the validity of Job Card under MGINREEGS? | BT & 27q FTd #12 &1 2T feha=i1 57

Options:

1. % 2wears | 2 af
2 % Syears | 3y
% ¥ Swyears | S oW
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4, % 10vears | 1099

Question Number : 75 Question Id : 3354726605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which among the following was the first scheme for rural development introduced by Governrment of India in

19527 | 1952 H 9RT TR ZIT 04T TTH 2T & ToT Uga ! i H i o o1y
Options:

1. # Integrated Rural Development Programme | S¢S & Saadde A

2 ¥ Cornrmunity Developrment Prograrmrme | wHg el SasaHe T

= % High Vielding Varieties Development Programme | 518 JeaT aiIge i SaaTde TmH

4. % Intensive Agriculture District Programme | 5 9d Tiieeat (S ee e T

Question Number : 76 Question Id : 3354726606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following vears was Fural Electrification Corporation established? | ®0 Soae Ml S0
T T ETOAT T e b T et

Options:

1.9 1969
Z % 1970
3. % 1971
4 % 1972

Question Number : 77 Question Id : 3354726607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year was Rajiv Gandhi Grarneen Vidyutikaran Yojana launched? | Tt mmeft omior e e a-r e
CLE TR o

Options:

1. % 1995
2. % 2000
3. ¥ 2005

4. % 2010

Question Number : 78 Question Id : 3354726608 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following is NOT a function of Gram Panchayat? | Fa@RET # & @9 97 UMW =T 71 @ 151 57

Options:
1. ® Establishrment & Maintenance of local markets | T ST T F0ET ST TE0ETT

2« Transport facilities | oitagy gieramd

%, % Prevention of contagious diseases | HHTAE 1T & THAH
4. % Lighting of village streets | TTd &1 TS&! U T FCAT

Question Number : 79 Question Id : 3354726609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the tenure of standing committees of Janpad Fanchayat 7 [ S90S T=THd & #T AiEfat &7 @ daar

TTE?
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Options:

1. % Cyears | 2d9

2. % Zyears | 3 oW

3 % 4years | 499
!

4 ¥ Swyears | 5w

Question Number : 80 Question Id : 3354726610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who can dissolve a Zilla Parishad? | UF a1 U0 & F19 917 T TFd7 57

Options:

1. # Zilla Panchavat President | =T m=mad sregy
2. ¥ State Government | 9 GET

Z. % Central GOvernment | &g ar

4. % Chairperson of Panchayat Samithi | T=ITad GiHTd @7 Sy

Cormputer Knowledge

Section Id : 335472192

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472192
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726611 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The type of threats on the security of a computer system or network are:
(i) Interruption

(i) [nterception

iiii) Modification

fiv) Creation

) Fabrication

Which of the following options are correct? | U BHIET THEIH 2T Feed T YUaf 0% Fa¢ & W o 51 7.
(1) STXCA (SR

I11) STTHTET (ST TEH)

(iii) ATE Herar (Farrer)

(iv) Trgar (Fmim

(') T (Tl e

et | & &9 a1 Hwen gemer 27

Options:

1. % i, ii, iii and iv only | Fa1, i, iii 3T iv
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2. % i, iii, iv and v only | #Fad ii, iii, iv T v
= ¥, i, il and v only | #de i, i, il W
4 % alld, i, iil, ivand v | i, i, iii, iv T v T

Question Number : 82 Question Id : 3354726612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the following is NOT an accessories tool in a Windows 7 systern? | MuAieTET # 9 g1 e 7 ogen #
T TR T TR €7

Options:
1. ® Paint | U=

2. ® wordFPad | 720=
= % DNotepad | ARUE
4 ¥ M5 SOL Server | THTE TEFIIA Fait

Question Number : 83 Question Id : 3354726613 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What happens when you select a row and press CTEL, SHIFT and Plus (+) at the same tume in M5 Excel? | &1
T1AT & el T TATT 92 H U 1 %1 =9 97 & & CTEL, SHIFT #% Flus (+) U 977 2a1d 27

Options:

1. ® The task manager window opens | THw BT el Geid! gl

2. % 4ll the numeric values of the selected row are added | == T & T4 TEgHE T & T 57 AET 21
3. ¥ A new row is added above the selected row | FATT T & IO TF T8 Uik I 01 81

4 % i new worksheet is added to the workbook, | Tbe® § UF 74T abdfi J2 =T 2l

Question Number : 84 Question Id : 3354726614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
who introduced the dataphone and the first known MODEM? | 130 a0 SRIE M &Y U5 A1T H1SH &7 HTiesd

Options:
1. % ATET | IET &fie ot

o % [BM | TEeTH

3. % Juniper | S
4 % Cisco | TRt

Question Number : 85 Question Id : 3354726615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following CANNOT be used to connect the internet? | 47 # § et Iwi, Toae 4 Fdge o & o
TRt TeRT AT HeraT 57

Options:

1. % Electrical line | Soilged aled
2 % Cable TV lines | %ad cidt A

% % satellites | HdaTEe
4. % Telephone lines | FEH AEA

Question Number : 86 Question Id : 3354726616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
How many bytes equal to a Kilobyte? | ToFd+ @5e, UF [FAdEe & aXlex 513 57

Options:
210 bytes / 210 @IS5E

1. ¢

220 pytes [/ 220 AISCE
o ®

230 pytes [ 230 G15C
3 ® §

240 bytes / 2% AI5C
4. g

Question Number : 87 Question Id : 3354726617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In M5 Excel 2007, which of the cell pointer indicates you that you can make selection? | THUH Tade 2007 # #19
T e WS AU ST FXdT 5 ToF 370 =2 &Y Tl 57

Options:
1. ¢ Doctor's symbol (Big Plus) | STHet &1 d 1% (#=T 706
2. % Srall thin plus icon | F1T 0aaT gad #7 ey

3. % Mouse Pointer with anchor at the tip | 1% U TS J1 7130 YaTse]
4 % None of above | JWIFT § § B A1

Question Number : 88 Question Id : 3354726618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following staternent is INCORRECT about header and footer? | FaifeEg d @ get iR gec ran o
T T T AT 57

Options:

1. # You can set different header and footer for even and odd pages. | g & qy7 feyw U=t @ oy = g2¢ @ gee
T HT T qE 5

2 % You can set images in header and footer. | 37 82¢ 3N Fex # 204 92 F G 8l

3. % You can set different header footer for first page of a section. | &0 U Hea & Tgel U & o] & 22T &
T F HT FC HEd )

4+ You can set different header and footer for last page of a section. | 370 U Ha & 1T O & &0 9 221
ER TR G T T

Question Number : 89 Question Id : 3354726619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Word, ‘Ctrl+5" key is used for: | TAUTE a2 H, Ctrl+5 &1, T0% W7 S6d=HTA &1 AT &,

Options:

1. ¥ Scenarios | WATET
2. ¥ Save | @9

3. % Size | WTEA

4 % sSpell Check | qUF %
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Question Number : 90 Question Id : 3354726620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LAN stands for: | LAN &7 Q07 &7 2

Options:

1. % Local Area Network | #@Tehe QAT Sadd

2. % Logic Area Network | @k UT Jead

= # Local Antenna MNetwork | &9 DT Joae
4. % Logic Antenna Networl: | @M TieAT Jead

Question Number : 91 Question Id : 3354726621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following functions removes the information in the original docurmnent or location? | S=H & &4 &7
eFa, O STHE A7 Alead H goT 5erd T a7
Options:

1. % slide | gATZE
2 ¥ Cut | &

= ® Copy | @7
4 % Paste | TT

Question Number : 92 Question Id : 3354726622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is used to chan%e page-size and margins in M5 Word 20077 | THod a2 2007 # T
o TR il T ST UA—HT12 T2 Wi W g ®-l o Tl Tl 7 Hehd T 57

Options:

1. ¥ Page-Setup | T9-Hza
2 ® View [ T

3. % Tools | 7ed

4. % Data | @T

Question Number : 93 Question Id : 3354726623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IT stands for: | IT ®T 0 &7 &

Options:

1. ¢ Information technology | S®IHAT dg-iaTe!
2 % Internet technology | Seede SqA@m]

3. % Inforrmation tracking | SAHIHA & 1T

4 % Interesting technology | SECET S Tmra!

Question Number : 94 Question Id : 3354726624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& terabwte represents

Options:
1. % 1 million | 1 &fEET
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2. % 1 billon | 1 e
3. % 1 Kilobyte | 1 rdfemEe
4 ¥ 1 trillion | 1 Rfe=m

Question Number : 95 Question Id : 3354726625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

An example for magnetic storage device is; | BUTew w21 = {2959 &7 0F IS0 5
Options:

1. % OME | AHaTT

2 # Hard disk | g2 Za%

3. % CD-ROM disc | H12-U9 2aw

4. ¥ Memory strip | #ANT &2

Question Number : 96 Question Id : 3354726626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following statement is CORRECT in order to select the group of cell in M5 Excel?
i. Select a Cell, Hold Shift Key and Select the final cell

ii. Drag the cells with mouse

iii. Select a cell, Hold Shift Key using Arrow Keys

| THOE UFE o H O & 0 & S e & o7 39 w0 § e # 9 #1997 Fee goaw 27

i Wﬁﬂﬂﬁ@ﬁmﬂﬁ‘%ﬂ?fﬁﬂﬁ@ﬁﬂﬁ' A BT el F HelFal F4)

ii. AT & A aT F Hed & 277 H1

iii. T Hel 1 HeTe B, T 1 1 TEdRAT ded U (A0 1 B glead F4

Options:

1. ¥ Staterment i and i only | % @1 #Tii
2. % Staternent i and iii only | 0 i o i
3. % Staterment i and iii only | Fd FeA il 3 i
4 ¥ all of the above | IR THT

Question Number : 97 Question Id : 3354726627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
________ is any device, such as PC, grinter, or another server, which requests services or resources froma

server. | ________ s AT UET TZanse &, 9 U, Tex, o o ®eY, T e |} o Sarell O SETedt w7 S w6l
Options:

1. # Networking | SeaiT

2 ® Workstation | ghqes

3. ¥ Clients | A

4 % LAN | &9

Question Number : 98 Question Id : 3354726628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
also called the welb, contains billions of documents. |

_______ 1 oley T T AT &, TEH Sel STHGHT E10 T

Options:
1. ¢ World Wide Web | I6ig 9158 o

2 % HTTF | Uit
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% % web portal | S T
4 % Domain | =ET
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 99 Question Id : 3354726629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which software is needed to boot the cormputer? | FET B o T & [0 B4 § SIFed ol F64d gia 1 a7

Options:

1. % Cperating Systern | ST #een
2. % Loader | @laT

3. ® MS Office | THIT ATHR

4. % aApplication Programs | Titerdre T
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 100 Question Id : 3354726630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a hardware? | 798 § & 797 UF gle a8 g1 57

Options:

1. # Processor chip | W =
2. % Printer | ex

2. ® Mouse | ATIH

4. % Java | =Tar
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